ASSISTANT DIRECTOR OF FISHERIES IN TAMIL
NADU FISHERIES SERVICE

Terminal velocity is related to

a. Viscosity b. Surface tension

c. Circular motion d. Linear motion

e. Answer not known

BB HengGeusld elaiL H SpHewiL 18HTH CHTLTLenLUIZI?
a. utdwed aleng b. uyiiy ®ap elews

C. el LUuTengd Suisasld d. GriGam B BSuibsd

e. alenL g flualsvensv

which star is nearest to the earth next to the sun?

a. Andromoda b. Alpha century

c. Sirius d. Cygni

e. Answer not known

GNwISG DIGSHHTBCUTL LaldhE DimBlevieTen ealewiben o61ghl?
a. oyer’ GymGomm b. speour OFehasM

c. dfluerd d. ewgei

e. alemL OFHflwalevensv

Rote memory is the ability to memorise verbal materials as measured
by the usual methods of

a. Recall b. Recognition

c. Recite d. All of these

e. Answer not known

WeTlIUTL.  HlenaleuTBmed  eleiilghl  GFmBamT  OummeiTdemen  Hlevesteyl (HLD
HmeiT G, BvdH el LWSTLBHD OUTSHIeUTET (Lpedm  (H6IT)  6T6ILI)
(6méu)

a. Hlenere] gnTHe0 b. omEsisHsHe0

c. Fmbu PUIalHHe0 d. @maiseT DDRBIHHID

e. alewL OFMwalsvensy
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Intelligent behaviour directly depends on

a. Memory b. Instincts

c. Innate Behaviour d. Reflex

e. Answer not known

SINUTTHS HLHMS SHLDHERIL QUBBIGT 6THemedT CHIlQUITES FiThHleTend)?
a. BenereuTmm;ey b. 2 _sitememniiey

C. 2 6lenMhg HLHMSD d. dyguediy

e. alemL OFflwealevensv

Name the Indian - American aerospace engineer who led the
‘NASA’S MARS 2020 MISSION'.

a. N. Valarmathi b. Swati Mohan

c. Kalpana Chawla d. Devaki

e. Answer not known

BphaHwu — S6wféss alewCeuefll QumpslwmenT, BHTFTaler OFeleuTul 2020
S L GFweoLmhHenen Ul [HL SHSHUIGIT.

a. [b. GUGMTIDG) b. erbeurd) Guomasest

C. HEOLIRIT F6il60T d. Cxeud

e. alewL OFflwalsvensy

10% reservation for EWS (Economically Weaker Sections) guarantees
by which Constitutional Amendment

a. 100th b. 103d c. 27t d. 75t

e. Answer not known

6b SIFSluIeuenLoL] FLL SH(HSHSLD QUIT(HEMTSHITY F&lulled
LievaiaoTaralTdehd@, 10% B @Hisbdl oL 2 BFiuBGHSHIBBS.

a. 100-eug| b. 103-6ug c. 27-ouz| d. 75 eug

e. alemL OFHflwalevensv

Indian Nuclear Power Programme stage-3 aims using
'fuel of the future'.

a. Radium b. Polonium

c. Thorium d. Actinium

e. Answer not known

OphHU DIEWISHH BWEL HLLID - Uy — 360 ;M GIHTHMEV
eafloummenTal LWeTUGSHS HILLLOL (HeTeng.

a. Griguub b. GunBsumenfuib

c. Bxpmfwid d. eysgeiuid

e. alemL OFflwalevensv
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Which one of the following language is not an Indo-Aryan linguistic
family?

a. Balti b. Bihari

c. Bengali d. Bagheli

e. Answer not known

Neitaupd Gomplseied @hGsT — ouflwl Gomyl GHwuSHev Cagregl e1g?
a. umevlg b. W

c. Qumsmer d. uBsed

e. alewL OFfwalsdensy

Which river is known as Tsangpo in Tibet?

a. Damodar b. Manas

c. Brahmaputra d. Mahananda
e. Answer not known

HOusHHeo FTRICUT CTSIBEMIPSHHLILGBID HFH 61517
a. HGTHT b. wmererd

c. Uywyggm d. wemTmHET
e. alewL OFflwalsensy

Consider the following statement/s is/are true in respect of size of

India :

i. India has 4.42% of the Worlds total land area.

ii. India has an area of 3.2 million sq.km., making it the seventh

largest country in the World.

a. (i) only b. (ii)only

c. Both (i) and (ii) d. None of the above

e. Answer not known

&6 LarhedsLUL (BHeTeneupmier @phaHwmaler Gufiw Fwbeuel GGTL TLITe

giwmer FaBm / FBoIE6T &HHHHeO CETelTenab.

1. o eudle OTHs Bleoliugriied SbgHwm 4.42 FHNHHMBD
OBTewIY (HSHFH BB

1. @bsHwmeler ugliuene] 3.2 Wevedwet FHy &.OLTH6T, B @
® U6l GJomeugl Ouflw BTLTS 2 6iTeng).

a.i (B

b. (ii) w G0

c. (i), (ii) «dHw Brewi(d

d. GumsmpweuBled ergiad Ee0enev

e. alewL OFMwalsvensy
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By which amendment the word 'Secular' was added to the Preamble
of the Constitution?

a. 22nd b. 32nd c.42nd d. 52nd

e. Answer not known

b FLLSHMSSHHe cpsod (Secular) ‘gwowsmiuBns’ 6B aUTTSHMmS
SIIFwed FrFadHHlen (WHLemIuled GaTesliulLgl?

a. 226zl b. 326usl c. Reaugl  d. 52euzl

e. alemL OFflwealevensv

Who mentioned about the Rose Merchants of Vijayanagar?
a. Barbarossa b. Abdur Razak

c. Nuniz d. Paes

e. Answer not known

almwpsrsHEH Crmegm elwmumfisenert umps @GO LeuT wimT?
a. umruGymam b. ongm yand

C. Muyeierd d. wwerd

e. alewL OFflwalsensy

Under Maratha administration, the Amatya or Majumder was
appointed

He was responsible for the account of Income and Expenditure
of the state.
He was responsible for the personal safety of the king and
supervise his daily routine work.
He was the foreign minister.
iv.  His duty was to see that all royal letters.
Which of the above statement is correct?
a. (i) b.(ii) c. (iii) d. (iv) e. Answer not known
SIDGHWT  HIGL6VGEH]  LORPIDSHTT  eleiilieued] ITHHW L Fufled  Hluioestd
UG 6.
™. ST WIHevdHer aufe| OFeve| Semidend UTTILSED CUTBILILITES
BIWILDSSUILILLTT.
amem. Loaiteunfledl LTHISTL oBmid Hell o galwmenyrasad ieufler SHea
Geuemevgenem GopuniTensuulBeugev
menem. Geuellwmeysh Hiemp wWHHTNwWTs BHudlssliil L.
M6l  DITERIOMEISHEG U(HID HLITELHMET LTTILS Dieuflest SHLenLouIT@GLD
GuoBanpSlweumled 61&hl FHWTET FnBmmT@HLD?
a. (i) b. (ii) c. (iii) d. (iv) e. alewL Opfuaisvensv

14. Identity the false statement about the Central Bureau of Investigation.
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a. Is a statutory body.

b. Is not a statutory body

c. Derives its powers from Delhi special Police Establishment
Act, 1946

d. Is the main investigating agency of the Central Government

e. Answer not known

HHUI LjeveTTule] Spememiuild uBMlul SHeummen CFTBOBTLmT H6wILpls.
a. @ FLLIHWTET DIGNLOLIL

b. @m FlLfHwumear Senly 6060

C. OLeved saliulL Gumeded uedL Sewoli] FLULID 1946 ed(HbHEH SHeot
SIHBTIHRISHEMET GBI BTBH.

d. wsHw Qe (WEHHw aFTImenT (LPHEWID SLGLD

e. alewL OFflwalsensy

When was the Indo-Tibetan Border Police (ITBP) raised?

a. 02 October, 1969 b. 12 October, 1972

c. 24 October, 1962 d. 30 October, 1975

e. Answer not known

OHBHT — FHOUG 61606ME0 HTEUED CTIGLITILSI FHBUBSSILIL L SI?
a. 2 o&6LTuT, 1969 b. 12 &56Lmuir 1972

C. 24 o&BBLmUT, 1962 d. 30 &56Lrur 1975

e. alemL OFHflwialedensv

Assertion (A): The Chief Minister is the channel of Communication
between Governor and the Council of Ministers.

Reason (R): The Chief Minister is the head of State Council of
Ministers

a. (A) is false, but (R) is true

b. (A) is true, but (R) is false

c. Both (A) and (R) are true, but (R) is not a correct explanation of (A)

d. Both (A) and (R) are true, and (R) is the correct explanation of (A)

e. Answer not known

FGBnl () : SLEHBT  LOBBID SmWFFTmISGH QLB HH6UeD

QLT UTeVLOTS  GFWIEOLIBUGUT (LPSHeLGUT G LD.

HMTEID (HT) LOMTHI6V SIMIDFFTN6U GIIRIETE) HEMEVTTH
CFwIedLIBLIGUT (LPSHELGITTEUMIT.

a. (gn) HUBTIH WLBMILD (SHT) FHWLTEIHI

b. (&) sflwreig wWHBEBID (HT) SHeuBTEIH

C. (g) MWD (&7T) QuewiG &M, ML (HM), (Fa) &G ghwmer
allobHLD  E)6eLEN60
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d. (gm) B (s1) Hyewihd &, wWBBID (BM), () &G Fhwmer
Nl LD
e. alewL OFfwalsdensy

Select from the given provisions the correct one that was inserted
under Article 51-A of the Indian Constitution under the 86th
Amendment Act 20027

. Respect the National flag and the National Anthem

. Protect and improve the Nations' Natural environment

. Safeguard public property

. Parents to provide opportunities for education to their children

between the age of six and fourteen years

e. Answer not known

86-aug FLLSHIHHSID cpeold BhHul SFFlwevenoliF FLLGHFH6T el
51-A &0 Gamdsiiu L  gllwmer  FrHmBHd  SHDEHEILamSledHhal
G 0&HHSHHLD

a. Cafw b wBEILD Cxduis GEmgemul LOFHGSH60

b. BTl geT BUIBMBF GLPM6VLT LITHIBTSHH60

C. BT CQUTHEF CFTSHMBL LITHIBTEHH60

d. OGumGurt smiseT HdHHEH UDHBTEG UG QIed] 2 6iTer
GLHMBHBHEHHHTET H60A  6ULOHIFHSH60
e. alenL O5fwailsdensv

18.  Why certain expenditures are called Non-plan expenditure?
a. expenditures not planned
b. expenditures not included in the five year plan
c. expenditures included after preparation of plan
d. expenditures of miniscale amount
Answer not known

asamed  Hev  GQFevaydemen HULID  FIIT  eumHATU  OFeVa|H6IT
SImLPSHHCBTID?

a. L CumiiuLng GFeve Hei

b. mpFHTewIB HLSHe0 auIngh OFevalmer

c. L CGumie ver GadsluBl OFeveysel

d. Ba& QarBuoTeEr OF6v6H6i

e. alemL OFflwalevensv

Who said that the preamble of the constitution is "the political
horoscope of the constitution?

a. KM.Munshi b. Dr. B.R. Ambedkar

¢. Mahatma Gandhi d. Jawaharlal Nehru
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e. Answer not known

SITFweosmoli] (ST 6Tl “idlulcvemioliier dluled mTHHD’
oTeurdh  FamluieuiT wimi?

a. Ga.e1b. (paiiag b. Dr. B.R. oubGusait

C. LDSTHON HMH d. meuamieored Gp(H

e. allewl  OFfwealedensv

The function/s of Reserve Bank of India are :
Issue of currency
Banker to Government
Banker's Bank
Exchange Management and Control
a.l only b. 2 only
c. 2 and 4 only d.1,2,3and 4
e. Answer not known
BphHw Mael eumdulesr QFweoun® / QFuwIeOUT(HHETTEI6:
. Breorwl Geueilui®
. SOIJFTHIGHDH6GT GUBISI LT
. QUMRISIH6MET GUBISIWITENIT
. uflorBp Geomewientd WBHID HL-HUTH
. 1 L (Bb b. 2 w @G
. 2 oBpId 4 oL@ d.1,2,3 wnyi 4
. alewL Qe fluailsbensv

The founder of the Abhinav Bharat Society
a. Jutin Das

b. Surya Sen

c. Madan Lai Dhingra

d. Ganesh Damodhar Savarkar

e. Answer not known

SBey LTS FhsD CaHmBpIalssHeuT wmiT?

a. AT HTerd b. @&mwur Gger

C. DG 6060 SHIMISIT d. s8emwiay HTCOTHT FeuTami
e. alemL OFflwalevensv

The Mohammedan Association, the first Muslim organisation in
Bengal was established in the year

a. 1823 b. 1835 c. 1843 d. 1855

e. Answer not known
AURIBTONSHHE0  (PHL  (Per0eSld  BuIsSIOTeT,  (IPSLHW  BuisbsLD
CarmBoialssliul L yemih
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a. 1823 b. 1835 c. 1843 d. 1855
e. alemL OFflwealevenso

The article 'Why [ am an Atheist' written by

a. Lala Lajpat Rai

b. Bhagat Singh

c. Bhagawati Charan Vohra

d. Chandrashekhar Azad

e. Answer not known

‘BT g6l BTHHBTSH ™ 6laienid S (HenTenll 6T(LSHILIGUT WImT?
a. 6GUTELT 6ULIZ Jmul b. uss Fmi

C. useugl gyenr Geuramgm d. shpHrCsast ouasH

e. alewL OFflwalsensy

A book "Eighteen Fifty Seven" was written by

a. Dr. Alexander Duff b. Dr. S.N. Sen

c. V.D. Savarkar d. J.W. Kaye

e. Answer not known

‘O G RSP Gu” THD LUSSBSHMS eTRBLIeT
a. LT&LIT. 96e0HsFTeorLT L. L

b. LusLiT. ererd.61651. GFes

C. allg. FTOUTHBT

d. Ge.Lleiuy. Gabul

e. alemL OFHfwalsoensv

The Tamil Nadu State Social Welfare Board

i. It was established in 1954

ii. It has undertaken many programmes for women and children

iii. It has welfare programme for scheduled caste, scheduled tribe

and orphans

Which of the above statement is/are true with regard to TN social

welfare board?

a. (i) only b. (i) and (ii)

c. (i) and (iii) d. (i),(ii)and (iii)

e. Answer not known

SIS Feps  HEVEUMTIWILD

1. 1954-60 2 (HEUTHSBLILILL G

2. QuewTIH6T, SLDHENHBH 6T [HEVLEY6OT JBLUBSHIB SHIL_LMIBH6IT
CFweOLIGSHSLILGHBSI.

3. SCs and STs wBmbd BT EeLOTCHTTHEHEHETON S L BIH6IT
BEDL (LPEmBLILGSHSLILIL (HETETSI.
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CumampPw gmBmisefled 6@ / eTemeu 2 _ewienio?
a. (i) w @w b. (i) wmpd (ii)

c. (i) wmppid (iii) d. (i), (ii) wmpib (iii)
e. alemL OFflwalevensv

If difference between compound interest and simple interest
for Rs. 32,000 for 2 years is Rs. 20 then the rate of interest is

a. 2%% b. 2% C. 6%% d. 4%% e. Answer not known

ah 32,000 SIFNHG 2 UWHBEHHEG HDMLEGHID  Inl (Ul 19HGID,
ala 19bGD ool Cuwiujeiten  alGHwmgd e 20 eeled Uy @iHD
616116161T6) ?

a. 23% b. 23 C. 61% d. 41%
3 2 4 2

e. alewL OHflwealsdensy

Who is the author of the book 'Marainthupona Tamil Noolgal'?
a. Mayilai Seeni Vengatasamy

b. Thirumeni Rathina Kavirayar

c. M. Ragava Iyengar

d. M.V. Aravindhan

e. Answer not known

‘oemmpdl Cumenr SO BIeLHeT — QFflwiT wmT?
a. wulemev el CoumisL g

b. HECuweail roHHer dalymui

C. (Ip. JUH6N EQUIMBIGTIT

d. ap.omel. oeibaHer

e. alemL OFfwealeoensv

Identifty the group, those who were called themselves as
'Varnashrma dharmangal anupalitha' in the history of Tamil Nadu?

a. Pallavas b. Pandyas

c. Nayaks d. Tondaimans of Pudukkottai

e. Answer not known

HOE eugeuTBrled ‘euemtm FJID HTOMISET DIE@ILITEIS 61601 HHIHEN6T
SIMPSHSIH  OSBTETL 6UTEH6IT?

a. LI6L6VGUTEGIT b. umemnguwITSHET

C. [BTWLSBTHEIT d. ysIBBaT L QHTewBINL DTEHIH6IT

e. alemL OFflwalevensv
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"A carpenter who makes eight Chariot's a day. How strong a
Chariot's wheel if he takes one month to make that one". What is the
implied meaning of this Turananutru Padal'?

a. A strong person

b. A victorious person

c. A charitable person

d. One who supports poets

e. Answer not known

‘e1em1CHT CFUIUD HFF6i

HEIFH6T  alelHdH STeoger GemBer” — 6D  UBHT@®IB®I LML 6D
2 eWITGHHID CILIT(HEIT.

a. auellenid 2 L WIGI6sT b. Geumpd GumILIGIEST

C. CamemL O&mTHLILIGI6T d. yeveueny @M ILIGUGT

e. alemL OFHfwalevensv

"Last full moon

We had our father, we had our hill".

In which division the poem Purananooru Express?
['Atrai Thingal av venilavin

enthaiyum udaiyem yemkundrum perer kolar']

a. Helpless state in distress (Kayaru Nilai)

b. Mazhapula Vanji

c. Porunmozhi Kanji

d. Perumkanji

e. Answer not known

‘OIBMBSH HMIBET I610IRI6IT 611605 60T

abemBHUWD o L Buib eIbGemID LIBTOSTENTT — 6lenIld LBHTEDTBMILI
LTL 6D 2 _6WITHIHID Hienm 617

a. emsWEBl Hlenev b. e auehd
C. QuTpeBTOWTNS HTehd d. QugprisTehd
e. alemL OFHfwalevensv

The father of economic Ecology is
a. Gandhiji b. M.S. Swaminathan
c. Sivan d. Nammazhvar

e. Answer not known

QUTHEMTHTT GV HHeNSEH 6TeTLILIHLIGUT

a. &b b. 6mb.61610. SHEUTLAMHITS 6T
c. dlouest d. miwrpeurit

e. alemL OFHflwalevenso
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Consider the following statement.

Parson valley is associated with

1. Hydel energy

2. Solar energy

3. Nuclear energy

4. Wind energy

Above which one is correct?

a.2,3 b.1 c.1,4 d.4 e. Answer not known
SIEHHEWIL. FnBenB HTTUIS.

uniigest Geuel eIgHewent FMHHH!?

1. yerev Wedtgmyd (BT SLBB6L)

2. GTwW &g OGIFTD

3. SN DLBMm6L

4. STBBIM6L LGIFTFLD

BwBev 2 _sienmemeuuied e1ghl gFflwimer alenL?

a. (2), 3) b. (1) c. (1), @)
d. (4) e. alewL Gxfuwalseneo

is a cash award given to Hindu Adi Dravidar students of
Tamil Nadu (one boy and one girl) who secure first rank in each
district in plus 2 public examinations.
a. Thiruvalluvar Award
b. Ambedkar Award
c. Annal Gandhi Memorial Award
d. Periyar Award
e. Answer not known
@alOeuT(h  oTeUl L SHFHeVID, LieOFewiLmd eauGly Ourgsh BxiTaled
WoHLD Ugs@h sUlps Sba <pd HITell  TeaTeEbsd (@b
SLEWT OBMID @ GuewT) eauPmISLILGD CITds al(ha LG LD.
a. FHmaueenalT al([hHSl
b. ouBusatT al(mal
C. Slewienied HMhHFH Hlenesia] al(hHl
d. QuflwnT &lmal
e. alewL OFMwalsvensy

Government of Tamil Nadu was published first Human

Development report in the year
a. 2000 b. 2001 c. 2002 d. 2003

e. Answer not known
HOs SFler  (pHev elHeaien GubuT G oPdens  GeuefluiL i’ L
SLEWIL_TETG)

a. 2000 b. 2001 c. 2002 d. 2003

11 | Page 044-24339436, 42867555, 9840226187




e. alowL  OFfwalsdensv

e. alemL OFHfwalevensv

The TICEL park is

a. Rubber park b. Textile park
c. Food park d. Bio park

e. Answer not known

LLMISIT  6T6ITLIGI

a. @UlufT BIsT b. maefl ybisT

C. 2 606 LiRIGT d. o ulfl ymism

e. alewL OiMwals0ensy

Why Chengalpattu District can be called as "the Gateway of
Chennai"?

a. It is the threshold to the State's capital from Southern Districts

b. It is the threshold to the State's capital from Northern Districts

c. It is the threshold to the State's capital from Eastern Districts

d. It is the threshold to the State's capital from Western Districts

e. Answer not known

CamimeoUl’ B WTal L SHms OFaieneiulle  HieweuTuled”  6lediml  6Jedr

DIMLPSHHEVTLD?

a. Oxeir Teul L mSeMed(hhdH HMeVBH[HDBE 6F60MID  HIHOTUIEOTS
B(BLILISHTED

b. e wrean LBisefledmbE HmeUBEHBEG OFeOs0Id  HiMPITUTEOTE
B(BLILISHTED

C. Hpdh@ Tall LkSeMNed(mHba HMVBHHHEEG CF60MID HienpeuTuleoTs
B(BLILISHTED

d. GumBg wreul L misefelhheH HMeUBHHBEH CFOMID HIMPMTUIETS
B(BLILIGHTED

e. alewL OFMwalsvensy
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2 e
If = 25 is divided by X2+E; then quotient is
X+ X% —

a. (x-5) (x +3) b. (x - 5) (x - 3)
c. (x+5((x-23) d. (x +5) (x + 3)
e. Answer not known
x*-25 X+5
i3 PR ey
a. (x-5) (x +3) b. (x-5) (x-3)
c. (x+5((x-3) d. (x +5) (x + 3)
e. alewL OFfwalsdensy

L UGBS CUTH HeNLHGHID e

Find the sum of infinite terms of the geometric series + 16 - 4 + 144 -
43 + ...
a. 4 b. -8 c.-3 d.-4 e. Answer not known

+16 -4 +144 - 43 + ..... i QUBSGHFH OCHTLT auflewaulest (e
9 MILLSH6T 6UDT Fn(bHH6V SHT6IIb.
a. 4 b.-8 c.-3 d.-4 e. alewL Gxfuealsbensy

If the consecutive English alphabets A to N are represented
respectively by the integers from 14 to 1 and alphabet 0 is represented

by zero and the alphabets P to Z are represented from -1 to —11 then
find the sum of integers representing SUCCESS?
a. 16 b. 16 c.2 d. 18 e. Answer not known

A waed N euewguieorer Simide 61(1pSHHISH6T (BB 14 (1pHev 1
Al  GPSBILUGSBH. BB  apdhdH O eeiug  LUISHHe0
GBEHILGHBEH Gad (PpHev Z euedIuieomen SRIEH6E0 6I(IDSHHIHH6T -1
WHe0 -11 euemyuievmer (pup eTewidenmed Gnldbsiiul Lmeo SUCCESS ereiis
SLRIFHE0 UTTHMBUND © 66T 61(SHHISHM6NDH GBHGWD (LD  6T6MT8561T 60T
Fa(HBH6V HT6WIH?

a. 16 b. 16 c.2 d. 18 e. alemL Gz flwealsvenev

Pipe A can fill an empty tank in 6 hours and pipe B in 8 hours. If both
the pipes are opened and after 2 hours pipe A is closed, how much
time B will take to fill the remaining tank?

a. 7hrs b. 5hrs C. %hrs d. 3%hrs

e. Answer not known

Q@ Oeummid QBT 1genul Gomul A 6 wenl CGrrHdHlevd @omul B. 8 wewf
Cpysdaud Bl @pgupd. BB GWTUSEHD  FHBdeUULB, 2 6w
Crprsamall Ueargwmul A epliulLme, g peten O mlgepul Byl
Gomul B eraieuena] wewfl GoID eihdHadh GCdmeemd?
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e. alemL OFflwealevensv

A is thrice as fast as B. If B can do piece of work in 24 days then find
the number of days they will take to complete the work together.

a. 5 days b. 6 days

c. 8 days d. 9 days

e. Answer not known

A aauam B eeiueaiemys SMgenid Galemev GFUIaS6D eLPGIIHI DL G,
GousiomeniauT. B opemeu q@n Geuemevenul 24 BT Herle0 (LIQLILITT 6160760,

Bmeurpld DenewibdH DibhSH Cauenevedl (PIYSHD 615HHM6T BT &6 61(HHHIH
OBT6ITeUT 61601  HTENIb.

a.5 BT &6 b. ®mm el C. 8 BT el
e. 9 BIL&6T e. alewL OFfwalsdensy

The difference between the CI and SI for 2 years for a principal of Rs.
500 at the rate of interest 8% p.a is

a. Rs. 32 b. Rs. 38 c. Rs. 48

d. Rs. 50 e. Answer not known

ah 500 H& 8% o euliguied 2  OLEIBBEHEEG Tl ([HEUL19HEGID
SHlaUl 195G el Cuiujeiien algHHuImgLd

a.ep 32 b. e, 38 . em. 48

d. e 50 e. alewL Gxfualstensy

A sum of money amounts to Rs. 2,662 at the rate of 10% compounded
annually for 3 Yr. The sum of money is

a. Rs. 2,000 b. Rs. 1,800 c. Rs. 1,500 d. Rs. 2,500

e. Answer not known

10% ouewi® eullguied SLeBIHHOBTHIPMB QI 1Y  HEuThSILLILLLT6, 3
S160T(HB61T6D oI  DIFeVTEIH 1 2,602 OHTMSUITS DLELD.

a. a 2,000 b. e 1,800 c. ap 1,500

d. ep. 2,500 e. alewL Gxfuialsensy

1£1000:10 = x : —— find x.
1000

a. 10 b. L
10

e. Answer not known
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1000 : 10 = x :ﬁ oTeulled X -6 LDGLIemLI HTewIsb.

a. 10 b. L c.1000  d. -1
10 1000

e. alemL OFflwealevensv

Which is the largest ratio?

5:7,1:2,3:5,7:10

a.5:7 b.1:2 c.3:5 d.7:10
e. Answer not known

SpdaamiLauBpieT slCUNW aldeHHmbs HT6sm.
5:7,1:2,3:5,7:10

a.5:7 b.1:2 c.3:5 d.7:10
e. alemL OFHfwalevensv

Find the Highest common Factor (HCF) of 21x2%y, 35xy?.

a. 3x3y?3 b.5x3y3 . 7xy d.9xy? e. Answer not known
21x%y, 35xy? syPweuppledn LIOL®H GUTH UGS (15.0UT.01) HTEwIS.

a. 3x3y? b.5x3y3  c.7xy d.9xy? e. alenL Gzflwealsdamey

Find the Highest Common Factor (HCF) of 408, 170.
a. 36 b. 34 c. 33 d. 30
e. Answer not known

408, 170 eiaiiB  eTewizeledr IO GUTH aIGHHeWl HTewis. (15.6ILT.a)
SBITE0I .

a. 36 b. 34 c. 33 d. 30
e. alemL OFHfwalevensv

The radiation with highest energy is

a. X-ray b. UV-ray c. IR-ray d. Visible light
e. Answer not known

SIFP YBBVIL &1 alleNRIGD HIHTeIFH DS LD.

a. eIdherd S b. us eagrd A

c. gsdalliy &H d. sevamim e

e. alewL G flwailsdenev

Decibel is a unit to measure the

a. Intensity of Radiation b. Intensity of Sound
c. Intensity of light d. Intensity of heat
e. Answer not known
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QL&ued eTaiTLIG M SEMHEGHD @(h DIVGH DGLD.
a. s@raiFdear QaFpey b. @& Qansley

c. @allF QFpsley d. Geumug Gapey

e. alewL G flwailsbenev

Open mindedness is a trait of

a. Discovery b. Concept learning

c. Scientific perception d. Scientific attitude

e. Answer not known

SHBHSH LD ILITETENLD 6T63IMB  LIGUOIL G LD.

a. seuiBLigli b. sm&HE BHBBEL

C. 9Pfaluled LeveitsmL & d. opfeluied weiLTesTenLD
e. alemL G flualedensv

Why two wheeler are not normally fitted with diesel engine?

a. Less efficiency b. More smoke

c. High power d. Less density

e. Answer not known

geir @Ieni(h FHB] GUTHMIMIHENMED g6 6lehFla CLTHBHHLILBMHVm60?
a. GmBbHEH Hesr b. aFs yms

c. oiPls Hmpen d. eopbs I TH)

e. alewL Ggflwalsvenev

"SANKALP" is an Initiative associated with

a. Learning Programme

b. Skill Development Programme

c. Decentralization Programme

d. Capacity-Building Programme

e. Answer not known

"SANKALP" eeaiugr  838amp  GamiiymLw  OaThHToHssH S 6
WPSHBUQUITGSLD

a. &MmBeL HI LID b. Fmet Goum’ (B HiLib

C. QIFHBTT UTaUeITHS S L LD d. Hpeio — 2 (HauTdhs S LD
e. alewL G fwalsdenev

The formation of Kerala state in the year
a. 1943 b. 1946 c. 1953

e. Answer not known
Gxyenmm LOTHIGVLD 2 (HEUTSHSLILL L. 6U(HLLD

a. 1943 b. 1946 c. 1953
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e. alemL G flwalevensv

Khelo India was launched during the year

a. 2015 - 2016 b. 2016 - 2017

c. 2017-2018 d. 2018-2019

e. Answer not known

BxBeom @BAHWT 6lhdH QUHLID OBTewiB euFLILL L g7
a. 2015 - 2016 b. 2016 - 2017

c. 2017-2018 d. 2018-2019

e. alemL G flwalevensv

The UN heritage site which is aimed to be a special development
zone called 'Mecca for Buddhist' recently is
a. Bodhgaya b. Sarnath
c. Lumbini d. Mukthinath
e. Answer not known
UN 2 sva umgibufiw Hend o maumdsul(hé@ld  “USHISHSHH 6T OLssT
— Fpiy Guibum’ (B DERTL 60D 61hIG 2 _6iTengI?

. USSHBWIT b. gmpTs

. oIbL el d. wasamprs

. allewL OFflwalsdensy

b

Which of the following is related to summer season of cropping?
a. Zaid b. Rabi c. Kharif

d. Dry farming e. Answer not known

LetaumaueaibmieT o1&k Gdmeml.  &meoll  Lhed  GeuenmessTeniou L 6ot
OHTL T WIZHI?

a. gL b. gm9

c. sl d. eupewi_ GeuermemTento

e. alewL Oz flwalsdenso

Which of the following soil is very rich in Humus?
a. Laterite soil b. Forest and mountains soil

c. Marshy soil d. Alluvial soil

e. Answer not known

LTeTa(HeUeTaUMBMIGT 61h& Loewieniey o uliTgFsHgl 10 DIHSH(peiend)?
a. Geol LewyL.  LoeuwT b. &M (B WBBID DMV LDEIHT

C. g3l Blev LDGwT d. euewiL6d LoeuIT

e. alewL G flwailsdenev
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The famous Virupaksha temple located at the place

a. Sri Kalahasti b. Sri Bhadrachalam

c. Hampi d. Chidambaram

e. Answer not known

UaseuBm ‘elmursagt’ Gsmaled SiewLDblenen @ 1D 6157
a. 1 srenamed) b. nf ugyraeod

C. amibLi d. Agbugd

e. alewL G flwailsbenev

In the Maratha administration 'Sumant' is named as

a. Prime Minister b. Commander-in-Chief
c. Judge d. Foreign Minister

e. Answer not known

LTSS HiTeuTs (Penpulled ‘&Lohe 6TedTLIeuT  WimT?

a. Ugslo Siemgat b. Ggemug)

Cc. pHUS d. Geueflwme) SiemDEFST

e. alewL G Mfwalsdenev

Which one of the Statement is correct regarding Dauladabad?

1. Dauladabad mean city of wealth.

2. Another name of Dauladabad is Devagiri.

3. Muhammad bin Tughlaq changed his capital from Delhi to
Devagiri.

4. Dauladabad was one part of the Bhamini kingdom.

a. 1 only b. 2 only c. 3 only d.1,2,3,4

e. Answer not known
SLpFHenILmaudeled OHemevsLTsh uBBw Fa@Bpiseied FflwTerg 61gi?
. OFpeneumpUTd eaiBTe0 OFsvauld OFBTHHSH HBTD 616y CLIWIT.
. OzpenevgpurdHear wBEBTMH GuwT Gxheudfl
. (&g e FHiHesd  HmeuhIm] GLevellulled @mhaH CHeusflea@,
LOT B3| GOTITT.
. OzemeumUTd, umdlel SFder @@ LGHWTGLD.
. 1 w0 b. 2 wl G c. 3 w@epdl 234
. alewL G fluwalsbenev

The first Afgan rule in Delhi was founded by
a. Malik Bahram

b. Malik Mardan Dawlat

c. Bahlul Lodi

d. Islamkhan
e. Answer not known
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QL 60edluled (1p&He0 SLlIBTeT S Fenuwl HmieNuleuT

a. 1medd UTQBTD b. wrels wWTHTET OHerTevsH
C. uameied Geumig d. ®erdeormid et

e. alewL G flwalsbenev

The smallest weight found at the Indus Valley sites
a .675 b. .850 c. .875 d..785

e. Answer not known

Fbgl F00eueMulled semiBLgSaILLL 106 GMBHS DI6N6] 6TenL
a .675 b. .850 c. .875 d..785

e. alemL OFflwalevensv

Match the following :
A. R.V.S. Perisastri 1. Former Chief Election Commissioner
B. A.N. Roy 2. Former Chief Justice of India
C. Charan Singh 3. Former Prime Minister of India
D. B.N. Jha 4. Former Chairman of UPSC
A B C
1 2 3
2 4 1
3 2 4
4 3 1
Answer not known
LeTau(heueTaIBens  CLIT([hHHSHIH:
A. RV.S Qufl gmerogdM 1. (1peSiednmed Henevenip BHTHeO &L6M6uoTUIT
B. AN. gmul 2. (lpeitemmed @HFH U HmeLEID HAHLIF)
C. syeidm 3. (pelianmed @&l LygLoT
D. B.N. s 4. apasiemed UPSC  semeveui
B

a.
b.
C.
d.
e.

C
3
1
4

walleLemnsv

The Supreme command of the Defence forces of the Union of India is
vested in whom?

a. The President

b. The Parliament

c. The President but regulated by Parliament

19 | Page 044-24339436, 42867555, 9840226187




d. Chief of Defence staff

e. Answer not known

OphHU  @EMWSHET  UTHISTOUL UL S6MesT  IBHT 2 UIiTSHeol

SLEETIWH ST Wb o BBeLohH (HHHBSHI?

a. GWITHS HemeveuflL b

b. umyTEBLOEBSHSHL L

C. GWwrssd SHomevaufld: SLemed  UTITEHOSIB  GHNSI(LPMBSHEHHS
2 Lu(p

d. @priuenLd Hmevenivd HemLHUIL LD

e. alewL OFfwalsdensy

Which of the following 'writs', literally means "we command"?

a. Habeas Corpus b. Mandamus

c. Quo warranto d. Certiorari

e. Answer not known

&b OFTeLeILL L auBmIel  ‘BrmhiGeT  SiemeutuiBHGBID’  etedi3  CUIM(hHeIT
2 _aWITHHISI LDGO)I.

a. 9 OBTenITe] LogD b. mew (Lperd

c. Gamoumyewr@Lm d. GameGuimym

e. alewL O flwalsdenev

A new All-India Service can be created by

a. An act of Parliament

b. An order of the President of India

c. A resolution of the Rajya Sabha

d. A resolution of the UPSC

e. Answer not known

LW Sislev b it Liewilullenest DL 2 _(HEUTHS SUIGVILD
. LITJT@BLOGB FL L SH3HleT eLp6eLD
. GwrsHS Hemevaufler SLememTuledt LH6VLD
. LOTHleVmIGaT6ET Slemed SHTIOTETSHIH 6 CLPEVLD
. wHFHW uewilwmenT CaTeuTenemridhglent STLOTEID eLP6VLD
. alewL g flwaledenev

The Marginal farmers in India, who holds land upto
a. 1 hectare b. 2 hectares
c. 4 hectares d. 10 hectares

e. Answer not known

@pHwuraled GHm aleugmuiseT maISH(HEGSGID HevHH6T 66
a. 1 QamsGLT b. 2 GamsGLT

c. 4 Gam&GLT d. 10 Gam&GLT
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e. alemL G flwalevensv

The Chairman of the 13th Finance Commission is
a. N.K.P. Salve b. KC. Panth

c. Vrjay Kelkar d. Rangarajan

e. Answer not known

136ug HFS GUaler HemeveuT wimT?

a. e161.8.19. Fme0Geu b. Gxs.4. ubs

c. almul BCame0amIT d. grisyTeges

e. alonL  OFfwalsdensy

Who among the following was considered as the "Father of Indian
Uprising"?

a. Bal Gangadhar Tilak b. Bipin Chandra Pal

c. C.R. Das d. Gopala Krishna Gokhale
e. Answer not known

AhHw erFAUIT HHmS 6T6Id HIHSLILIL L GUT WimT?

a. UTeL SHBISTH] ST

b. W0er FhAy UmTed

C. .. FHmerd

d. Gamumev &magent BsmaGev

e. allewL  OFflwealedensv

What is the mainstay of Indian Economy?

a. Business b. Agriculture

c. Public Sector Industries d. Manufacturing Sector
e. Answer not known

@hHw CUIHMTHTISHSHe0 LIFHTer GL1b eudliLgi

a. GuewisID

b. eleugmunbd

C. QuTEHIS FHIwB OHTLHBFTENEVHEI
d. 2 Busg BHiews

e. allewL  OFfuwealedensv

In 1895, Shivaji Movement was started by

a. Dadabhai Naoroji b. Mahatma Gandhi

c. Bal Gangadhar Tilak d. Subash Chandra Bose
e. Answer not known

1895 &b opemi(h Flourgd QuISESHMSH OSHTLmISIWweuT

a. greTuTul OpenGyred b. wargwr &HaH

C. LIT6D HBIBTHT H6OBIT d. sured gpdy Gumerd
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e. alowL  OFfwalsdensv

Who said that, "All lives are alike at birth"?
a. Kambar b. Ilangovadigal
c. Thirumoolar d. Thiruvalluvar
e. Answer not known

‘UpliOuTs@Lb 6leveT o ufiTéh@Gd’ — 6laTmeufT.
a. &Lbui b. @enmmGsTaugHer
C. Hmepsort d. FHmeueiepeu

e. allewl  OFflwealedensv

Hem Chandra Kar's proclamation led to the outbreak of
revolt.

a. Indigo Revolt b. Pabna Revolt

c. Deccan Riots d. Kuka Revolt

e. Answer not known

Gamib FmHHy Smilent LNFssL b SonTFFeG aufl aUGHHDHI
a. ®eungBsr dlenired b. umiem @enirégd]

C. HHBTWIH BH6VBID d. @ssr Henirsd]

e. allewL  OFflwaisensu

C.N. Annadurai assumed the power as Chief Minister in the year

a. 1967 b. 1969 c. 1968 d. 1966

e. Answer not known

el Sl HIM]  (PpHeO  WHHTwTs FHaeTrsHHed  CuTBIIGLmD
Shewi(b

a. 1967 b. 1969 c. 1968 d. 1966

e. allewL  OFflwealedensv

In the census of India which year some caste groups in Tamil Nadu
claimed Kshatriya status?
a. 1865 b. 1882 c. 1901 b. 2001

e. Answer not known

b el BhHW 1dHH6eT CFHTensd HeHOBHBHLILTD SHODBTL 96T  Fl6v
gnFulent FHFHMWL DbHervdHlenest Gamileott?

a. 1865 b. 1882 c. 1901 b. 2001

e. allewL  Oxfuwealedensv
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Karur Sedition Case was related to which movement?
a. Swedeshi Movement b. Indigo Movement
C. Quit India Movement d. Home Rule Movement
e. Answer not known
&pT Lfalener aupdh@ 6hd BusbsHCHTH OHTLTLmL UIGH?
a. 568xd Budbsld
b. ®eawngGsr Buidsd
C. GeuetememuiBGerr GoueMGuip Buidbsald
d. seaem g Suibsid
e. alowL  OFfwalsdensy

If x % of 600 is 450, then find the value of x

a.75 b. 100 c. 125 d. 150
e. Answer not known

600 &1 x% oeig 450 ereiled X e AN IGILIeHT6T?
a.75 b. 100 c. 125 d. 150
e. allewL  OFflwalsvensv

Who wrote Puthukavithai (free verse) under the pen name
Pasuvayya?

a. Nagulan b. Sundara Ramasamy

c. KalaPiriya d. Vikramathithan

e. Answer not known

“‘LFeuUIWIT” eTeTemId Lewelll Guwifled Ygibsalensd er(pgluleuT wimr?

a. [h&6V6lT b. @bsy groFm

c. seumll LNflwm d. eléayionddse

e. allewL  OFflwealedensv

The text which praises the victories of Lord Vishnu belongs
genre.

a. Puranilai Valthu b. Vaal Mangalam

c. Kandazhi d. Vaayurai Valthu

e. Answer not known

SHlporeder Geummlenwill LisLbeIg GTEITEDILD  SHIMBUITGLD.
a. UBBeme0 aIMDHSI b. eumeir mIBEVID

C. &hDBL d. aumuyemns eumpsHal

e. alewL G flwailsdenev
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Mention the name of the Nayanar who built a Siva temple in his
mind?

a. Nesa Nayanar b. Sadaya Nayanar

c. Isai Nayanar d. Poosalar Nayanar

e. Answer not known

S THH G0 FeuCuHLOTaISGHSE CHTulled SLlgul BHTUIGITT

a. Gms mTWenITT b. gewLw BrwewTT

C. ®end BTG d. yseeorT mrwiewTT

e. alewL G flwailsbenev

To which pre-historic time antiquity of terracotta art was traced back?
a. Chalcolithic Age b. Megalithic Age

c. Neolithic Age d. Iron Age

e. Answer not known

UTUTHBBIGE (PHMSW 6hS BHTevd SLLGHFH60 GFHOW 2 (HeUd SHen6V
UPSBSIBES MBS

a. Q&b &Hmevld b. GuUEBIBBSTEOLD

C. UdHuw SHB&TevLD d. ®wmibys SmevId

e. alewL OFflwalsvensy

Kapadapuram was engulfed by a sea during the reign of the Pandian
king

a. Kadungon b. Kaichinavazhuthi

c. Mudathirumaran d. Nedunchezhian

e. Answer not known

SUTLYJID &L 60T60 cpBlgbhsIll L. Curgl sl & OFulgh UTewIgul  LD6IT6T60
a. sBRIGHTeT b. sruifereaipd)

C. (IpL S (HLOTMB6H d. OpGeHeFIuIeT

e. alewL G fwailsdenev

Match the following :
List I List II
A. TNeGA 1. State Nodal Agency
B. E-Sevai 2. Online Service
C. TN-GIS 3. Remote Sensing Technology
D. Block chain back bone 4. Nambikkai Inaiyam
A B C D

1 2 3 4
2 1 3 4
1 2 4 3
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d 4 3 2 1
e. Answer not known
LevTau(henTeuBens  CLIMT(HSHSHIH:
A. TNeGA . oGl GrTLed 66igeitd
B. & Gzemeu . DapmendF GFemeusel
C. TN -GIS . OzTeneoueniTa] GEHTIHeLHI LD
D. Block chain back bone . BLIHmD BeneutuiD
A B C D
1 2 3
2 1 3
1 2 4
.4 3 2
e. allewL  OFflwalsvensy

85. Match List I with List IT and choose the correct answer:
List I List IT
A. State commission for women 1. Emergency response to
women
B. State Resource centre for women 2. Shelter to affected women
C. One stop crisis centre 3. Holistic empowerment
D. Women Helpline Scheme 4. To address gender issues
A B C
a. 4 2 1
b. 4 3 2
C. 1 4 2
d 2 4 1
e. Answer not known
aflewg | & auflews Il o et Qurpsd Fflwmer alemLemuw CHTHOHBHS:
aifleng 1 afleng 11
A. v &HETNT SLeM6OTUILD . eusy CrIHPeL OILIETIHEHH S
256l
B. wmhlev QuewiseT e . UTEHSSULL L CLIeNISHEHHE)
GMLDWILD LT GISTUILIeTLILG]

C. om Ppiss Cpyssly . QUIEHTSHEHEBITET  (LP(LDEMLOUITEOT
EMLOWILD SIFH HMTL061T &HFH60
D. OQuewiser o 56l50%HTeneo6Ld]
O&HTLITL 6l6mT HIL L LD . ureder LITFgeneuisener
MBUWITETEUS]

A B C D
a. 4 2 1 3
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b. 4 3 2
C. 1 4 2
d 2 4 1
e. allewl  OFfwealedensv

To avail benefit under Sathiyavani Muthu Ammaiyar Ninaivu free
supply of sewing machine are

1. No age limit

2. No income limit

3. Destitute widow

4. Beneficiary should have female child

Among these, which are correct?

a. () and (2) b. (3)

c. (3) and (4) d. (4)

e. Answer not known

FHIHWeuTenll  (IPHGH  SIDMIDWITT  [Hlenere] @6l  MSHUIED
QUPRIGLD FH L SHSHleT LILIGTTeNH6NT.

1. euwgl euylbL B6venev

2. GU(BHLOME GUJIDL] E6L6m6V

3. aHTUBB alHemel

4. vwenmeiseT U GWHmd MauSHDl(hHS Gerew(HLb
LeiteumUeummled 61g ghwimer allenL ?

a. 1 wBmib 2 b. 2

C. 3 1BmIb 4 d. 4

e. alemL OFfwealeoensn

Find the sum of the series

122+ 132+ 142 + + 352

a. 14404 b. 14104 c. 14204
d. 14304 e. Answer not known
Leteumd OHTLMaT FnBBHemevd HTewIsb.
122+ 132+ 142 +

a. 14404 b. 14104 c. 14204
d. 14304 e. el Oxpfuwalsvenev

The simple Interest at x% for x years will be Rs. x on a sum of

a. Rs. x b. Rs. (@j

X

X2

c. Rs. 100 x d. Rs. [@j

e. Answer not known

26 | Page 044-24339436, 42867555, 9840226187




SihBG X% alllg eiHD X PaBHEHEHHEG B X SN IQUITS
S SHHOLMID HFL (OHTenDH) 666667

a. fh. X b. em. (@j

X

c.ep. 100 x d. em. (@j

X2

e. alowL  OFMwalsdensy

Find next term.

c.4 g e. Answer not known

6
H&H 2 _BILIMLIS HTE0IH.

c.4 gres e. alewL  OFfuialevensv

If IS =26 and WAS = 38 then ARE will be equal to?

a.60 b.63 c. 57 d. 58 e. Answer not known
IS=2 wppib WSA =38 eaied ARE e wdliy asBb@ &Fob?

a. 60 b. 63 c. 57 d. 58 e. alew O fNwalevemso

Two coins are tossed together. What is the probability of getting
different faces on the coins?
a. 1 b. Va c. 2 d.3/4

e. Answer not known
Breni(h [HTENIMISET QEIBTHE FeIL LGS OBt SJeni(y [Hrenrumisbeiebd
CouaiGouml (LPHMIGBET HWL LILISBHTET [HHDSHHE| 6165760

a. 1l b. Va c. 2 d.3/4
e. alewL OFMwalsvensy

Find the probability of getting a red ball from a bag containing 20 red
balls.

a.0 b.1 c.1/20 d.1/2

e. Answer not known

20 dleuliy mIpL ubSHISeT SILEmSW mUULIe(BhHEH @ Feull] HBL UbS
SO LIUSHBHTOT HHDHH6| SHT60TH.

a.0 b.1 c.1/20
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d.1/2 e. allenL  Gafuialsvensv

The diagonal of a rectangle is ¥41 cm and its area is 20 Sq cm. What is
the perimeter of the rectangle?

a.9c b.18 cm c.20 cm

d. 41 cm e. Answer not known

o OsFaleussdHea  cpmeaill Lib 4l Q&1 ppb oISET Uiy 20
F.05.10 eiadlled OF6lIUBHHT FDBME6Y 616316017

a. 9 Gg.6 b. 18 @F.8 c. 20 Gg.18

d. 41 Gz.18 e. el Oxfuwalsveneo

If the base area of a hemispherical solid is 1386 sq. metres, then find
its total surface area.

a. 4158 m3 b. 4158 m? c. 4185 m? d. 4185 m

e. Answer not known

RH Hwd emIsh CamensHHer Slgliugliy 1386 F.18  eleied, DIH6T
QTHSL UBLILTLeDHLES SHT6mIsh.

a. 4158 b. 4158 182 c. 4185 1f? d. 4185 18

e. allewL  OFflwalsvensv

A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find
the principal

a. Rs. 7,000 b. Rs. 7,200 c. Rs. 7,100 d. Rs. 7,300

e. Answer not known

R GUUILL Oxtemswmag 8% ey aidsHdled 5 ewIBHeme0
10,080 SLFBHI. DIFN6VH HT6UIH.

a. ap 7,000 b. e 7,200 c. @ 7,100 d. . 7,300

e. allewL  OFflwalsvensv

In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum?

a. 3 years b. 4 years c.3 % years d. 2 years

e. Answer not known

ahpmear YiBselled qh 5,600 opEBHG 6% Salanly aihsHded
6,720 &% 2 ul(hHb?

a.3 oewIhEe6l b. 4 syeiHeei

. 3% LTI BB6T d. 2 syemi@mei

e. alowL.  OFMwalsdensy
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X+ 2 X—3

Simplify: +
Pty x*+3x+2 x*-2x-3
1 -1

X+1 T x+1
e. Answer not known
X+2 X-3
2 + 2
X“+3X+2 X" —2x-3
1 _
a o
X+1 X+1
e. alowL  OFMwalsdensy

F(H&HEHb:

Simplify:

)

e. Answer not known

e. alenL  OFfluialsdensv

Find the ratio of H.C.F and the L.C.M. of the numbers 12 and 18.
a.1:6 b. 2:3 c.3:4 d.4:5

e. Answer not known

12 wBpid 18 odlw  aewideflenr  15.0u.sT.  wBmd  W6.F.0  eler
B HHMHE HT6IH.

a. 1:6 b. 2:3 c. 34 d.4:5

e. allewL  OFflwalsvensv

The L.C.M of two Co-Prime number is 6006. One of them is 66. Then
find the other number.
a. 1001 b. 101 c. 91 d.6

e. Answer not known
& gt usr elewideaier L5.&.0. 6006. @ elewl 66 eleled LOBEBTT 6T6wT
61691601 7

a. 1001 b. 101 c.91 d. 6
e. alowL.  OFMwalsdensy
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